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Arithmetic Series - Q1 [Practice/E] (17/6/21)  
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For each of the following arithmetic sequences, find an expression 

for 𝑎𝑘: 

(a) in the form 𝑎𝑘 = 𝑝 + 𝑞(𝑘 − 1)   

(b) in the form 𝑎𝑘 = 𝑚𝑘 + 𝑐   

(c)  in the form 𝑎𝑘 = 𝑎𝑘−1 + 𝑡  ; 𝑎1 = 𝑢   (𝑘 ≥ 2)    

(where 𝑝, 𝑞, 𝑚, 𝑐, 𝑡 & 𝑢 are to be found) 

(i)  4, 7, 10, 13, 16, … 

(ii)  −2, −1, 0, 1, 2, … 

(iii)  8, 6, 4, 2, 0, … 
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Solution 

(i) (a) 𝑎𝑘 = 4 + 3(𝑘 − 1) 

(b) 𝑎𝑘 = 3𝑘 + 1 

(c) 𝑎𝑘 = 𝑎𝑘−1 + 3  ; 𝑎1 = 4   (𝑘 ≥ 2)    

 

(ii)(a) 𝑎𝑘 = −2 + (𝑘 − 1) 

(b) 𝑎𝑘 = 𝑘 − 3 

(c) 𝑎𝑘 = 𝑎𝑘−1 + 1  ; 𝑎1 = −2   (𝑘 ≥ 2)    

 

(iii)(a) 𝑎𝑘 = 8 − 2(𝑘 − 1) 

(b) 𝑎𝑘 = 10 − 2𝑘 

(c) 𝑎𝑘 = 𝑎𝑘−1 − 2  ; 𝑎1 = 8   (𝑘 ≥ 2)    


